............... | | 053/C

Roll No. ...
Total No, of Questions : 18] , ' ; : [Total No. of Printed Pages : 15
' SS
2320
ST udifterr yarEt
CHEMISTRY (Theory)
(Common for Science and Agriculture Groups)
(Punjabi, Hindi and English Versions)
(Evening Session)
Time allowed : Three hours 5 Maximum marks : 70
(Punjabi Version)
32 : () wwet @5o-iEdt € odies U8 '3 femds/lugas T8 i ¥ ferras/ a3
' 053/C #gd €ad ad #t |
(i) @wuza?z@‘éa?w“enéﬂ%%ééuaéﬁ'@wﬁvmmﬁ?w s Is
W2 Bld gHET IS5 |
(iii) @wwa?%awa?ﬂw/ﬂ%m?mwa@mém/mwmw
i3 wear |
(tv) I8 18 yA& I5 | w3 YRS ugdlt I |
) I8 o yrs & 1 € 20 Gu-39r I&8 W3 I F97 | waerz‘}lméqn?saaa?
a5 | '
@) FE BT yrs & 2?82-2»?3@33/?W7%H»?e§é?€33/
Ad YRS wugdt as | -
(vii) SO-€ T yps & 9 3 15 3-3 #lg € T5 | € yFe &9 ¥egst v I |
- A3 yHS "gdt 95 |
(viii) I9-A g ys & 16 3 18 5-5 ¥a @ I5 w3 feoer e wegst 9T J |
A3 YHS Wgdl I5 |
() ® FF W@ 30 a1 AR Halt 7w RaEt
(x) FUGE JEEUIT TIIE o wfamr |
i) Ut w3 fiet e ygs »omt yrst € nigee J& | [@@Ta wgewe »agHs 3

muﬁgdwéﬁmﬁﬁwe?nﬁg?ﬁvﬂ@#féaqnﬁsa?nﬁm

gy

053/C-SS

[Turn over



(2)
- 4 20x1=20
e via =@ yms - |
1. Ugr 3 »Ug 3 YFS (i) 37 (v) I st ffzr Uaruz @ 83 yrst € 39 €
@mﬁmmémmﬁmyﬁamaﬁ@
I8, gnfefea yfafamr &t w9 &9 ufeeszs a9 fée o8, €3Uga »we@e o5 | o3
yfafanr €t a3t Tu@ T 95 BRE URfer €3qga »3 Tl ySifafonr &t a3t wee I8

Org darfee €3qga Ifde I | Toua 8T ue9E J° g5 7 €3Uga © Hafomzr =r fée T8
wefa feraga §30ga < Afafonzr wer fide o5 |

() ©3ga f4t i R S8 0 ? : Ty

(i) UAfee Gsqma T ? ~ 1
(iii) €qaw ot ? K | I
(iv) <Jud ot o5 ? : 1
(v) feraag ot 95 ? a 1
s 8. (vi) 3 (x) B mee @8 yis | |
(vi) Uditds @ feawmar wr ot fd | ~ 1
(vii) T 37 HofmE wr &t fod | | B 1
(vii) »readt It BT fao3 adu § dus oW afde Is ? o
(ix) wfeGaft 2 M § Hofmz Jus oot fom Ue Tt wa3” st At 3, wrat fosd | |
x) yfendt mhfis e 39 foa | . ' ey
Tofeamft s (s 899 xi 3 xv ¥a)
xi) A ygfooxrd: AU 1
@) witam ) yhet s
(@)  Agsdt it (M) cordt Wt
(xii) Wehrfedfean et Ao fimae) de oo - | !
) wug § e I35 HEt () ZE™i 3* TI3 BE
(@ w3 &t JaEH BET (m fegst fég” aet &dt

053/C-SS



(3)
(xii) Ho vt € Aees (et & west=1gm/ ) 3

@ 55.55M _ ) S0M
® 60M m sSM

(xiv) yaW It &t yFifafonr € a1 vitg W vg ©t feaet 9 -
® s ) molL™s™
® L ~ m L's’

(xv) CH,-CH,~CH,-CH-CH, T IUPAC & J:
|

OH
©®) Uses-2-63 ) Use5-4-88
(@ Uses-1-65 A Usess

YRS 8. (xvi) 3° (xx) AIt/ars3 fog
(xvi) i Bfew ug @ 397 W F9e Ts |
(xvii) Ut ARBHE § RNA evar fsuisfes offsr mfer 3 |
(xvii) W 37 3 wizTEts JoE waEts duEls 3° Fu fafonmts 9T T |
(xix) B 3B feHr § B3 9 fée T3 |
(xx) eaia Wivs 2sen it o5 frsea figa 2ne fide I |
g
CRCCUCY RV
2. W3gast I3 doed Gfea faf” g Ent I5 ?
3. T3 mE w3 Qurfoitis tfora e @ iz fisd |
it
35 fafim T IUPAC & fob -
@ K,[HgCl] () K,[Ni(CN),]
4. JHeH W3 feeist e € w3 fod |

053/C-SS

1+1=2

[Turn over



(4)

5. fea yaw a2 yIifafonr wet 2o (va) mitg wa 80S™ 9 | oo yItaans § wiuat ydfsa

ﬁu@?mﬁ@maﬁmﬁaf&wwm? . 2
6. yaH It =t YEfafonr et A ( )FrﬁaaﬂaK 5.5x 105! 3 | ySHfafamr €t nwigw mg
u3T 99 | r 2
Fi‘ .,
yaH 3t ySfafonr Bet 2 (T9) Aftg Wa K=5.48 x 1071451 3 | feret € fsoet wg uzr
aq | | 2
7. $5e w3 Sfiags o usr fist | | 2
8. 3T IBWs Gfgra ot Iz ? CIF <t famrdht fs | v 2
| - 7x3=21
35 mat T8 yrs
9. t{rfewa?(r)vﬁaﬁasmﬁéazaﬂw%nzf&ﬁf . 3
At
m@@wmmmmﬁgé? iy 3
10. @ Iz Toogs-Afserd YFifafonr dt fenfimr 33 | -
- () Svens Byaee yEifafonr fed | | 1V+1%=3

®) ﬁquﬁhﬁwml

w) ME3T Hwes yItfafanr foi | 1%+1%=3
11. e fewesHs vgaa ot g5 ? €3 &t € Beagel fe€ | (Qew o) 3
12, CaCl,h Weg T&aE" (x°,) UZ" @ 7 for e wiefsd grsa@r 4° (Ca?)=119'S om?mol”
W3 N&g wifefaa 9&@a3T A°(CH)=76.3 S cm*mol™ T | 3
13. mﬁ»@ﬁﬁsa"rﬁzaﬂ;ra%aa? | ' 3

14. S5Hs v 8us W 353.23K 3 | 7 90g émﬂa%mwgmmmw@rwé
| 3TfEH€T@8'8€3ﬂT35411K33‘éUW5|wﬁHETﬂBHUHWH€TI
ﬁm?K =2.53K kgmol™) 3

15. 2C w3 vaHdT e 35 vigg fs | | 3

053/C-SS



16.

17,

18.

e

(5)

SWJI-H 3x5=15

U Mat T8 YAS :

K,Cr, O, €t fanret fisd |

 WEgedt st e 83y € e Hge I fag ? | 3+2=5

T
WIITE Tt v Qu® w3 R o fimirer 58 F ? mewg |
Bz fuwzs © ot s I 3 a3ty fod | 2+3=5

I fofmit YHfafonret fod -

() R3img Yfafonr

(ii) TN3® TTeeH wBAEdHs YIfafon

4(iii)fgfearq3’1ﬁrh»rr | ‘
foa mizdt fs@asmim Rédt YFmaus yIifafon (Sy1) M3 & wiedt fs@ae@m madt

yEtras yFfafan (Sy2) e © s fa | 3+2=5
| Tt b

3o fafmit < ufggmr foa -

(i) wiRfea d2Ws (i) Infa fHmge (iii) Yot Aaifedt

a@éamr@é@_uﬁarfa&l : 3+2:5

1l ot wee ey IF, wewr 3 g ?

#85 (Xenon) €t faformiwzT 2 dts ggese e yuar &y | 2+3=5

AT

SO, #i3 ¥uge Mz J | fa§* ?

3ug 9w ot fedags T[foe wetmt He fag 3 ? |
Oleum (&) & §3q fad | - | 242+1=5

053/C-SS | [Tumn over



(i)
(iii)

()
V)

i)

(vii)

(viii)

(ix)
*)
(xi)

(6)

(Hindi Version)

) oyl SR & §% W R9T-218,/997-#% At @ 7 va-#s Ave-ae 053/C s
g '

Fe-gfeT 32 & 58 7 P 2w @ f 50 amed akd 30 ye & oF v a7 B
FI-ghaE 7 @l 88 T yo/gRl 3 e & BT T ge/ae a1 g T@
A |

gl 18 597 &1 & 5 oifvard &1

W% 4 597 7. 1 % 20 39-977 & @7 99 w7 1 5% @7 &1 &t sy sifvary &

g F 57 7.2 § 8 2-2 ef%%é‘/:?yﬁ,#amﬁ?ﬁmwé‘/ a4 597 oy &1
AT F 997 7. 9 @ 15 3-3 of% % & @ 997 7 R% fawey &1 g 797 oifvard &1

w9 7 997 7. 16 @ 18 5-5 5iF % & 7 577 oRF T &1 @l geT aifard &)

'wwaﬁwangmvﬁmﬁﬁmm?/

AR 5 3 JTEAT # o &1
G o o=t 7 T i 3 G B oA &1 s AT S O ST A & s el
57 % Ry 3 ot 3 497 @ T T ) |

-5 i 20x1=20

T 3 a1t 99 -

1. TP MR WHA (999 7. (i)a(v)ﬁ):ﬁéﬁanﬁﬂ%tﬁwnﬁ%wé-
¥ Qe o T SRR % 9T ¥ AT T AT @ oA Te gq, TR e A 7 A
qRaRle e 33 ¥, T Feed 1 ) e o A TR A A O e SO e § o A
PR 2 TR o e ¥ R e S e ¥, e 3 e 3 ¥ o e 2 e 71 23 ¥ v

oy SO 9 Withaa 9T A & |

(i) o R T B AR 7 | 1
(i) TR IS FT 2 & 7 1
(i) SSRFFMAAE? 1
(iv) dsTMEAE? ' 1
(v) RverswmeE? | ol 1

053/C-ss



(7)
S . (vi)  (X) T T 9 H I -

(vi) UtcliefieT & ool @1 A1 Fand | ]

(vii) @@aqﬂ'{aﬂsiﬁrﬂmﬂaﬁl ]
(viii) mﬁﬁamﬁff%ﬁ?r—mgqﬁm%%? : 1
(ix) - et R g% 1 SRR Tt R - A S e ® 7 I
() e e g e - » 1
g 9 (97 . (xi) & (xv) ) '
(xi) @ G B-TE | 1
® b @ e
(=T)_ Vel oA (@) e emEA
(xii) TR T (e ) v TR I
@) gErH R E R (@) o a & R '
() TRTAIERIRT TRl S
(xii) gaw'ﬁm(gawwmﬂgmf')%; i 1
@ 55.55M | (@ 50M i
(n 60M @ SM
(xiv) R R g A () R 1 e B ' ‘ 5
PR e (@ moll’s"
@ L' @ L's”
(xv) CH,CH,-CH,~CH-CH, # TUPACTm}: 1
o
@ We2-um @ Wrdala
W Welaw @ W

053/C-SS ‘ [Turn over



(8)
us (xvi) ¥ (xx) d% Tl /Ad 1%1@_: ' . <

(xvi) IS Tg5H &R Pl TXE I8N B ¢ | | I

(xvii) SR P HIRTOT 1 T RNA % &1 Rear o 2 | | 1
(xviii) TR WX SFhET BTIESH SIEe Boliged 4 oifirp axfvriwaneiar a1 2 1 1
(xix) W%Mﬁmﬁwéﬁ%n 1
(xx) it ot dfawr Ruee & am faer Pre 2 dan g 1
| g 7x2=14
& ! A ue
2. @A IRR AT R T E? | 2
3. Foe ol v A A A iR L ' 2
ST
Freifefaa & TUPAC wm e :
(® K,[HeCl) (@ K,Ni(CN),] . 1+1=2
4, T ol R & @ ot Red ) | | 2
5. o gy i @ o @ R 3 () Reis 808 ¥ | aritwrees @ ot o wiger A 1/18 & 9 @
& e W A ? , “j 2
6. v e o e B R 3 Rerien K= 5.5 x 104571 % 5 oiiRear ) oreiig ot ¢ 2
o <Pife o) iR o 2 Rier o1 e Y v 3 (2)) Remid K = 5.48 x 1071457 2 2
7. ARG g ol Sl aftser & 2
8. ot ¥eltort s 8 ¥ ? CIF 1 dardl Rid | | 2
' T 7x3=21
eﬁﬁaﬁrmﬁmf
9. s (I°) b & A R B R o1 3
£ 1 FaeTI Qeobrect Q. FH T4 8 8 ? 3

053/C-SS ' - [See 9th page



11.
12.

19.
14.

15.

16.

17.

(9)
(@) %mmmﬁmmu

(@) AT srrEE s Rl | — 1Y4+1%=3
o

() A=A oTaEae SR ford |

(@) oeta weaym SrHaT ford | ' 14+1%=3
-t Sgae 1 81 § ¢ 39 3 IeTeXVT & (e M) | Sl 3
CaCl, @I AT aTTedr (A°,) Gl B T HeT e =reepar A°(Ca?) = 119 S em?mol™! #X drew
e Arerar A° (CH')=76.3 S cm?mol™ ? | | 3
e &R faclias Sed mmad ¥ ? 3

I #1 Fagi® 353.23 K ®1 1.80g smamsasha @ @ 90g a=iF & Oieq W faeae &1 399 is aged
354, 11K & st & | B & et s o o 3 1 30 $ e K, 79 2.53 K kgmol " 81 3

TR AR foreer & o e vt 3
| g | Ix5=15
qrg St ar Ae
(® K,Cr,O, % dard i |
(@) oo o & SRR T R A B ? : | ’ 3+2=5
aTeg

() e e T Ied Y R e Y e & ? :
(@) aHrTE T & oo R 2+3=5
(®) 9 & 7 el R -
(i) &t s
(ii) SIS e Tehgaer SR
(iii) Refe it | |
(@) e T SR (S 1) o Reerop TREE sk sffer (Sy2) 3 & s ¥
3+2=5
STl
(#) e e«
() RRmegmr (i) Rt B (iii) e TRy
(@) et S g fd | 3+2=5

053/C-SS : i [Turn over



18. (

3

a

2 a3

Note : (i)

(i)

(i)

()

(vi)
(vii)
(viii)

(%)
*)

(10)

IC!I, & st IF, &t 2, R4 7

- 996 (Xenon) & Bramsficr & AR & Hid e F1 w4 e | 2+3=5
' CRe
SO, 1 fayga et g 7 A 2
- o N A e e e g A A R 7 |
v 1 g ferat | , | 2+2+1=5
(English Version)

You must write the subject-code/paper-code 053/C in the box provided on the title

page of your answer-book.

Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive it.

Question/s attempted after leaving blank page/s in the answer-book would not be

| evaluated.

There are 18 questions. All questions are compulsory.

In Part-A question number 1 has 20 sub parts.and each part cérries one mark.

All Parts are compulsory.

In Part-B question no. 2 to 8 are of two marks each. There is internal choice in two

questions. All questions are compulsory.

In Part-C question no. 9 to 15 are of three marks each. There is internal choice in two

questions. All questions are compulsory.

- In Part-D question no. 16 to 18 are of five marks each and there is internal choice.

All questions are compulsory.
Log tables may be asked for if needed.

Use of simple calculator is allowed.
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(11)

{xi) Punjabi and Hindi versions of questions are translations of English version. Since
translation is based on approximations, so in the case of any confusion consider

~ English version to be correct.

Part-A 20x1=20

Onemark question :

Passége based question. (Q.No..i to v)

Readthe given péssag_e and answer the following questions :

A substance which alters the rate of chemical reaction without itself undergoing any change in
mass and chemical composition at the end of reaction is called catalyst. It may be noted that a
catalyst which indréase the speed of a reaction are called positive catalyst and catalyst which
decrease the speed of reaction are called negative catalyst. The prdmoters are substances that

enhance the activity of catalyst and poisons which decrease the activity of catalyst.

(i) - Howmany types of catalystare there ? ‘ 1
(ii) Whatarepositive catalysf? T 3 1
(iii) Whatiscatalyst? | | | 1
(iv) Whét are promoters ? o, | 1
(v) Whatarepoisons ? : 1

Q. No. (vi)to (x) are one word :

(vi) | Name monomers of Polythene. . : 1
(i'ii) | Name one food preservative. } 1

(viii) - Which group from periodic tableis known asNoble gases? 1
(ix) Write the name of solution used to preseNe bidlogical specimen. 1
(%) Wrife the formula of primary amine. | | 1
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(12)
Multiple choice question (Q. No. xi toxv)
(xi) Whichis most basic
| (a) Ammonia
(b) PrimaryAmine
- (¢) Secondary Amine
(d) TertiaryAmine
" (xii) Antipyretics aremedicinal compounds which
(a) Reduce Fever
(b) Reduce Stress
(c) ControlMalaria
. (d) None ofthese

(xiii) Themolarity of pure water (density of water =1 gml™)

(@) 55.55\M ' (b) S0M

(c) 60M d 5M
(xiv) The units of rate constant for first order

(@) s | (b) mol L“‘ s?

(¢) L - (d Ls?

(xv) TheIUPACnameof CH,~CH,~-CH,-CH-CH,

|
OH

(a) Péntan-2- ol

"~ (b) Pentan -4-ol
A (c) Pentan-1-ol
(d) Pentanol
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&No. (xvi) to (xx) are true/false type o
(xvi) Aminesactas Lewis bases. 1
(xvii) The synthesis of proteins is governed by RNA. ‘ 1
(xviii) * Ingeneral Alkyl Halides are more reactive thanAryl halides. 1
(xix) Phenols turn blue litmus red. 1
(xx) Formicacid givessilver mirror test }with Tbllen’s reagent. e 1
Part-B 7x2=14

Twomarks questions :
Why transitibn elements form coloured compounds ? _ 2
Give two differences bétween double salts and coordination compound. ' 2
or

Give [UPAC name of following
(@) K,[HgCl] (b)) K,Ni(CN),] . 4=
Givetwo differences between Hormones and Vitamins. ‘35 2

The rate constant for a first order reaction is 80S-!. How much time it will take to reduce the

concentration of the reactant to 1/18" of its initial value ?° 2

A first order reaction is found to have a rate constant K = 5.5 x10-*s™". Find the half life period

of the reaction. ' 2
or

Calculate two third life of a first order reaction having rate constant K=3.48x1 01457, 2

Define calcinations and roasting. K 2

What are interhalogen compounds ? Give prepafation of CIF. , 2
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11.
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13.
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15.

16.

(14)

Part-C e . LgP=21
Three marks questions :
Write Victor Meyer’s test for Primary (1°) alcohol. 3
: iy .
Why boiling point of ethers are lower than alcohols ? } 3

(8) ExplainHell Volhard-Zelinsky reaction.
(b) = WriteRosenmund reductionreaction. c 1Y%2+1%=3
' or

(a) Write Clemmensen reduction reaction.

(b) WrifeAldol condensation reaction. | 1Ya+1Y%=3
What are biodegradable polymers ? Give two examples (only nameéj. 3
Calculate the molar conductance (A°y) for CaCl, given that molar ionic conductance for
A° (Ca"’) =119 S cm?*mol! ahd molar ionic conductance for A° (C/')=76.3 S cm*mol™". 3
What are primary and secondary batteries ? - ' R

The boiling point of benzene is 353.23K. When 1.80g of non-volatile solute was dissolved in

90 g of benzene, the boiling point is raised to 354.11K. Calculate the molar 111555 of solute.

(K, for Benzene is 2.53K kg mol™) . | 3
Give three differences between osmosis and diffusion. ' 3

Part-D ‘ i3l s
Fivemarks questions :

(@) Givepreparation ofK,Cr,0..

(b)  Why do transition metal show catalytic properties ? 342=5
or

(a) - Explain why transition elements have high melting and boiling points ?

(b) Whatarethree consequences of lanthanoid contraction? 24355
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17. (a)

(b)

®

(b)

18. (a)

(b)

(@)
(b)

©)

(15)

‘Write the following reaction

(i) Sandmeyerreaction

(i) Friedel Craft Alkylation reaction

(iii) Fittigreaction

Givetwo differences between Sy;1 (Substitution nucleophilic unimolecular reaction) and

SN2 (Substitution nucleophilic bimolecular reaction) reaction. 3+2=5
. ' or

Define (i) Specificrotation (ii) Racemic mixture (iii) Optical Activity

Give two uses of chloroform. _ 3+2=5

ICI, does not exist while IF, existwhy ?

Give Neil Bartlett’s experiments on reactiVity of Xenon. . 2+3=5
| or

SO, has zero dipole moment. Why ?

Why Noble éases has zero electron gain enthalpy ?

What is formulaof Oleum? = G 5 242418
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